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QUESTION 1

How long can the battery backup unit run before needing to be put into a relearn cycle? 

A. 21 days 

B. 28 days 

C. 30 days 

D. 45 days 

E. 60 days 

Correct Answer: B 

 

QUESTION 2

If Granite appliance experiences a WAN outage, and a user requests a block that *is* contained in the blockstore, what
happens? 

A. Blue screen 

B. I/O error 

C. The read request is satisfied 

D. The read request is queued 

Correct Answer: C 

 

QUESTION 3

What is the default write reserve percentage of blockstore size? 

A. 5% 

B. 10% 

C. 25% 

D. 30% 

Correct Answer: B 

 

QUESTION 4

Some users at a specific branch have been reporting that occasionally when accessing their local file server (which is
being presented out through Granite appliance onto ESXi), it is continually hanging when attempting to access certain
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files, which eventually reports "File does not exist". What is the most likely problem? 

A. The SAN array is having communications issues with the Granite appliance Core. 

B. The Granite appliance Core is having communications issues with the Granite appliance Edge. 

C. ESXi is having issues communicating to the Granite appliance Edge. 

D. ESXi is having issues communicating to the Granite appliance Core. 

E. The Steelhead appliance is not optimizing the Granite appliance traffic. 

Correct Answer: B 

 

QUESTION 5

A crash-consistent snapshot leaves the LUN in the same state as: (Select 2) 

A. Warm boot 

B. Cold reboot 

C. Hard reset 

D. Logout 

Correct Answer: BC 
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